%‘JWFK W ITS Ar[’“t"wﬂ A_)EQ.Q v ‘/n%l)ﬂi?ful-j _ﬂz |

_ Chappl hoe
IR R v j“u‘-
" P\dnu (‘! é‘{: _gw-rloﬂlng ,om .M-/ {M *-? r, |
 Cdedt fia o &@@A\m o -
) iﬁs‘fib{ c{w(d? FS u—f a,—_rz" Z,ﬁ() 7&/"\ /w) / / ((U_) s

J’(.O 3

?Hh ” ﬂf U/

N Mrs{ﬂ ., SDTU‘{MQC.( \g‘ [wb‘ﬁ(mi. A#" c{,ll/gf/‘a(fﬁ ;/3’\3 F\

S MV ok e %;_ ey
%[L&)D "i“-’r’th % l,r* @‘f( ,)é;“ m;" C(V;@'f)

O/J b‘f—“?o ne—pN—

..wza.gﬁe:____..__gckm_@t) g Pl w,;;;K{m of everls -
s:afw«r- ef 6 naf gk MR, S
vl s, i?vi' "'___1, P

f%m  hn r"* f { :Zf lﬂ) e e

(Mg =

IETVVAR Y VS




TS N
o) = -1 ,,,\MM [ as evehe w0 x
X B e e )

€<0~ cl) = (Kl)=¢&

Q“f}a{g% ‘f‘um cc'\néz /\%}j@’c& e L o,

B o ik ol _
! = - st et Uk o ety
e, © e 1 |




&

(o ”

joo+Tr

~ (
.
}u)—%trﬂ{-"w’*?f“

-

)

s, ol

dic?

10000

Fn{wB* = @(u\),)" N b ~f
- o Ry M/g.;{.r fla "
el 77 :
4 o _7(WJ' X
simple channel noise

1 T T T = T | . T :
0.5f 1 | [ 1 ‘ |

ot L . i 1 1 1 : ] -

0 1000 2000 3000 4000 5000 6000 7000 8000 9000

" " power spectrum by multitaper method
10 - o : — :
10% .
10° - -
102} .
10°F 1" g

1 [ ‘I ;
10°L NW=1 k=1 : g
————— NW=3 k=5
NW=7 k=13
analytic

10'3 PSR A S ErE | il L il il 5

10° 10 10° 107 10" 10



Jonathan Victor
Note
This exponent 2 should be eliminated.
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Jonathan Victor
Note
Actually, [1 1 1] is a left eigenvector.  But the argument still holds.  This shows that the characteristic equation of E has 0 as a root, which in turn implies that there is a right eigenvector with eigenvalue 0.




